

Paper 7 Financial Accounting

Chapter 6 Accounting for Provisions, Contingencies and Events after the Balance Sheet Date
(I)
Multiple Choice Questions

1.
Which of the following criteria must be present in order for a company to recognize a provision?

1
There is a present obligation as a result of past events.

2
It is probable that a transfer of economic benefits will be required to settle the obligation.

3
A reliable estimate of the obligation can be made.

A
All three criteria must be present

B
1 and 2 only

C
1 and 3 only

D
2 and 3 only

2.
HKAS 37 governs the recognition of contingent items. Which of the following statements about contingencies, if any, are correct according to HKAS 37?

1
A contingent liability must be disclosed by note if it is probable that an obligation will arise and its amount can be estimated reliably.

2
A contingent asset must be disclosed by note if it is probable that it will arise.

3
An entity should not recognize a contingent liability.

A
None of the statements is correct.

B
1 and 2

C
2 and 3

D
All of the statements are correct.

3.
Which of the following statements about HKAS 37 are correct?

1
Provisions should be made for constructive obligations (those arising from a company’s pattern of past practice) as well as for obligations enforceable by law.

2
Discounting may be used when estimating the amount of a provision if the effect is material.

3
A restructuring provision must include the estimated costs of retraining or relocating continuing staff.

4
A restructuring provision may only be made when a company has a detailed plan for the reconstruction and a firm intention to carry it out.

A
All four statements are correct

B
1, 2 and 4 only

C
1, 3 and 4 only

D
2, 3 and 4 only

4.
In compiling its financial statements, the directors of a company have to decide on the correct treatment of the following items.

1
An employee has commenced an action against the company for wrongful dismissal. The company’s solicitors estimate that the ex-employee has a 40 per cent chance of success in the action.

2
The company has guaranteed the overdraft of another company, not at present in any financial difficulties. The possibility of a liability arising is thought to be remote.

3
Shortly after the balance sheet date, a major installation owned by the company was destroyed in a flood. The company’s going concern status is not affected.

What are the correct treatments for these items, assuming all are of material amount?

A
All three should be disclosed by note.

B
A provision should be made for item 1 and items 2 and 3 disclosed by note.

C
Items 1 and 3 should be disclosed by note, with no disclosure for item 2.

D
Item 1 should be disclosed by note. No disclosure is required for items 2 and 3.

5.
A contingent liability should be accrued if it is

A
reasonably possible and measurable

B
probable and certain in measurement

C
certain

D
probable and reasonably estimated



(HKAAT Paper 7 Advanced Accounting Pilot Paper 2001)

6.
Where, as a result of past events, there is a possible asset whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise, and the inflow of economic benefits is not probable

(1)
the asset is not contingent

(2)
no asset is recognised

(3)
disclosures are required

(4)
no disclosure is required

A
(1) and (3)

B
(1) and (4)

C
(2) and (3)

D
(2) and (4)



(HKAAT Paper 7 Advanced Accounting Pilot Paper 2001)

7.
Which of the following statements concerning contingencies is true?

A
Contingent liabilities are always recognised in the financial statements.

B
Contingent liabilities are always disclosed in the notes to the financial statements.

C
Contingent assets are sometimes disclosed in the notes to the financial statements.

D
Contingent assets are sometimes recognised in the financial statements

8.
Which of the following is not an adjusting event requiring adjustment in the financial statements in accordance with HKAS 10 “Events after the balance sheet date”?

A
The sale of inventories after the balance sheet date may give evidence about their net realizable value at the balance sheet date.

B
The determination after the balance sheet date of the cost of assets purchased, or proceeds from assets sold, before the balance sheet date.

C
The discovery of fraud or errors that show that the financial statements were incorrect.

D
A major business combination or disposing of a major subsidiary after the balance sheet date.

9.
HKAS 10 “Events after the balance sheet date”, distinguishes between adjusting and non-adjusting events. Which of the following is an adjusting event?

A
One month after the year end, a customer lodged a claim for $1,000,000 compensation. The customer claimed to have suffered permanent mental damage as a result of the fright she had when one of the enterprise’s products malfunctioned and exploded. The outcome of the court case cannot be predicted at this stage.

B
There was a dispute with the workers and all production ceased one week after the year end.

C
A fire destroyed all of the enterprise’s inventory in its finished goods warehouse two weeks after the year end.

D
Inventory valued at the year end at $20,000 was sold one month later for $15,000.



(Adapted CIMA Paper 6b (INT) Financial Accounting November 2003)

10.
Which of the following statements are correct, according to HKAS 10 Events after the balance sheet date?
(1)
Details of all adjusting events must be disclosed by note to the financial statements.

(2)
A material loss arising from the sale, after the balance sheet date, of inventory valued at cost at the balance sheet date must be reflected in the financial statements.

(3)
If the market value of investments falls materially after the balance sheet date, the details must be disclosed by note.

(4)
Events after the balance sheet date are those that occur between the balance sheet date and the date when the financial statements are authorised for issue.
A
1 and 2 only

B
1, 3 and 4

C
2 and 3 only

D
2, 3 and 4
(II)
Examination Style Questions

1.
Precision Ltd, an engineering company, makes up its financial statements to 31 March in each year. The financial statements for the year ended 31 March 2010 showed a turnover of $30 million and trading profit of $4 million. Before approval of the financial statements by the board of directors on 30 June 2010, the following events took place:

(a)
The financial statements of Accurate Ltd for the year ended 28 February 2010 were received which indicated a significant deterioration in the company’s financial position. Precision Ltd had bought shares in Accurate Ltd some years ago and this purchase was included in unlisted investments at its cost of $1 million. The financial statements received indicated that this investment was now worth only $500,000.

(b)
There was a fire at a company warehouse on 30 April 2010 when all of the company’s inventories to the value of $5 million was destroyed. It transpired that the inventories in the warehouse was under-insured by 50 per cent.

(c)
On 31 March 2010 a provision had been made of $600,000 in respect of any remedial work required on plant supplied and installed at a customer’s premises on 26 March 2010. No remedial work had been carried out and on 1 May 2010 the customer had confirmed acceptance of the plant; accordingly no further liability would be involved.

(d)
It was announced on 1 June 2010 that the company’s design for tank cleaning equipment had been approved by the major oil companies and this could result in an increase in the annual turnover of some $10 million with a relative effect on profit.

Required:

State, giving your reasons, how these events should be dealt within the company’s financial statements for the year ended 31 March 2010, to comply with the requirement of HKAS 10.

2.
You are finishing the accounts for the year. The following post balance sheet events have been brought to your notice.

(a)
The issue of one million ordinary shares of 50 cents at a price of 75 cents for the acquisition of 25% of the share capital of a supplier.

(b)
Notification that a trade debtor will only be able to pay 30% of his debt. At the balance sheet date he owed $450,000 and since then we have supplied him with goods to the value of $150,000.

(c)
A fire has destroyed inventories with an estimated value of $500,000. Your insurance policy provides cover for a maximum value of $400,000.

(d)
The board of directors decided to close a significant part of the trading activities of the company. At the previous meeting, before the balance sheet date, you had been asked to investigate the long term prospects for this part of the company and to estimate the losses which would arise if closure was recommended.

(e)
A final dividend of 20 cents per share was declared.

You satisfied that these events are “significant”.

Required:

State the action you would recommend before completing the accounts for publication under requirement of HKAS 10.
(10 marks)


(Adapted ACCA 2.9 June 1990)

3.
The draft accounts of Everlasting Ltd for the year ended 31 March 2001 show a turnover of $190 million and pre-tax profits of $38 million before taking into account the following items:

(1)
A plant with a net book value of $687,000 at 31 March 2001 was sold in April 2001 for $580,000.

(2)
The company was under-insured. Since it changed its insurer in February 2001, a claim for building repairs costing $400,000 (which arose as a result of the typhoon damage in January 2001) remains unsettled. $180,000 has been offered by the insurer and at best this may be raised to $220,000. The company’s lawyers are doubtful that it will be increased.

Required:
(a)
In accordance with HKAS 10 “Events after the Balance Sheet Date”, and HKAS 37 “Provision, Contingent Liabilities and Contingent Assets”:

(i)
distinguish between “provisions” and “contingent liabilities”; and



(5 marks)

(ii)
define an “adjusting” and a “non-adjusting event after the balance sheet date”, and give an example of each.
(5 marks)

(b)
Based on the information provided above, discuss how each of the above items should be classified, treated and disclosed in the financial statements of Everlasting Ltd for the year ended 31 March 2001.

[Marks allocated: (1) – 3; (2) – 3]
(6 marks)



(Total 16 marks)



(Adapted HKAAT Paper 7 Advanced Accounting June 2002 Q.C4)
4.
Answer the following questions with reference to HKAS 10 “Events after the Balance Sheet Date” and HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”.

(a)
Define the following items:

(i)
events after the balance sheet date
(3 marks)

(ii)
a contingent liability
(3 marks)

(iii)
a contingent asset
(2 marks)

(b)
HKAS 10 states that “financial statements should be prepared on the basis of events occurring up to the balance sheet date and conditions existing at that date”. In some cases, conditions existing at the balance sheet date can only be ascertained after that date.

Required:

Comment on whether the standard succeeds in ensuring that:

(i)
financial accounts are prepared in accordance with this rule

(ii)
financial accounts prepared in accordance with this rule are not misleading.



(8 marks)

(c)
The draft accounts of Olympic Ltd for the year ended 31 January 2001 show a pre-tax profit of $888,000. Before the company’s directors meet to approve the accounts, the following additional information is presented:

(i)
In November 2000, the company received a complaint from a US chain store that one of the beds produced by it on display had collapsed when lain on by an overweight customer. The chain store was sued by customer for damages amounting to US$30,000. Olympic had been advised by its lawyer not to take any action until the US chain store took an action against the company.

(ii)
In February 2001, the company entered into a contract to purchase machinery costing $2 million.

(iii)
In March 2001, the company’s entire stock of material XYZ (which had been damaged by water in an accident in February 2001) was sold for $180,000. The book value of the stock was $380,000.

Required:
Discuss how the above items should be dealt with in the financial statements of Olympic for the year ended 31 January 2001.
(9 marks)


(Total 25 marks)


(Adapted HKAAT Paper 7 Advanced Accounting Pilot Paper 2001 Q5)
5.
Brian Lee, a wholesaler, prepared the following draft balance sheet for his company:

Draft balance sheet of Brian Lee’s company as at 31 December 2003

	Assets
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment (Note (1))
	
	420

	Current assets
	
	

	Inventories
	780
	

	Trade receivables
	1,377
	

	Investments
	186
	

	Cash and cash equivalents
	57
	

	
	2,400
	

	Current liabilities
	
	

	Trade payables
	(970)
	

	Net current assets
	
	1,430

	Net assets
	
	1,850

	
	
	

	Capital and reserve
	
	

	Issued capital
	
	1,600

	Accumulated profits
	
	250

	
	
	1,850

	Note (1): Property, plant and equipment
	
	

	At cost
	600
	

	Less: accumulated depreciation
	(180)
	

	
	420
	


The following events happened after the year-end date but before the financial statements were approved on 1 February 2004:

(i)
Goods that had been unsold for more than six months disposed of in January 2004 at a price of 80% on cost. These slow-moving goods had been recorded in the balance sheet on 31 December 2003 at cost of $250,000.

(ii)
A trade receivable for $130,000 from Frank Limited was considered fully collectible at 31 December 2003. There was an explosion at Frank Limited’s plant on 3 January 2004. Since the safety measures at the plant was not up to standard, no compensation will be received from the insurance company, and it is unlikely that Frank Limited will settle the account with Brian Lee.

(iii)
Included in the investments account balance were 20,000 ordinary shares in SH Properties, a listed company, recorded at cost of $50,000. The market value of these shares at 31 December 2003 was $42,000. These shares were sold on 18 January 2004 for $44,000.

(iv)
A customer whose outstanding balance had not been settled for more than a year since their last transaction with Brian Lee was declared bankrupt on 2 January 2004; the outstanding balance of that customer with Brain Lee’s company was $35,000 and was expected to be irrecoverable.

(v)
The company suffered inventory losses of $77,000 due to a fire on 8 January 2004.

Brian Lee asked his accountant to advise him on how the above events should be accounted for before finalizing the account.

Required:
The following questions should be answered in accordance with the requirements of HKAS 10 “Events after the balance sheet date”.

(a)
Discuss the usefulness of distinguishing adjusting and non-adjusting events in providing a better understanding of an enterprise’s year-end financial position. Provide one example to support each of your discussion on adjusting and non-adjusting events.
(11 marks)

(b)
Prepare a revised balance sheet for Brian Lee’s company as at 31 December 2003. You are required to show the relevant adjusting entries and/or explanations, if any, in accounting for events listed in the question.
(14 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Advanced Accounting June 2004 Q.C2)

6.
The director of Ramy Limited has some queries about accounting for provisions and contingencies for the following events that took place during the year ended 31 March 2004:

(i)
At the start of 2003, Ramy Limited provided a guarantee of $1.5 million in respect of certain borrowings of a subsidiary whose financial condition at that time was sound. During 2004, however, the subsidiary’s financial condition deteriorated. On 30 April 2004, the subsidiary was declared bankrupt. Its outstanding borrowings guaranteed by Ramy Limited amounted to $1.3 million at that time.

(ii)
On 15 march 2004, Rmay Limited filed a suit against its business partner for breach of contract for an amount of $5 million. The company’s legal advisor estimated that a favourable settlement is probable. On 31 March 2004, Ramy Limited had not received any money from this business partner.

(iii)
On 15 October 2003, the board of Ramy Limited decided to close down a division making a particular product. On 20 December 2003, a detailed plan for closing down the division, which included redundancy costs estimated to be $3 million, was agreed by the board. Letters were sent to customers warning them to seek an alternative source of supply and redundancy notices were sent to the division’s staff.

Required:
(a)
Discuss the difficulties in measuring a provision under HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”.
(7 marks)

(b)
In accordance with the requirements of HKAS 37, discuss and explain the appropriate accounting treatments and disclosures for the year ended 31 March 2004 for the events given in the question.
(18 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Advanced Accounting June 2004 Q.C4)

7.
Vision Limited is a company engaging in manufacturing and distributing pharmaceutical products and medical consumables to local hospitals. On 15 September 2004, the Board of Directors of Vision Limited announced detailed plans regarding the discontinuation of the range of medical consumables supplied to hospitals. The Board also indicated that this is their intention to carry out the plan as soon as possible. The factory manufacturing these products closed in October 2004. With regards to the financial statements for the year ended 30 September 2004, provisions relating to the discontinuance of medical consumables manufacturing and distribution have been made for the following items:

	
	$000

	(1) Compensation of redundant employees
	880

	(2) Claims for unfair dismissal
	150

	(3) Penalty for the unexpired lease term on the factory premises
	450

	
	1,480


The following information is also available:

· The profit after tax for the year ended 30 September 2004 was $4,375,000.

· All the inventories of medical consumables and the plant in the factory were sold to a manufacturer in the same industry at a price which was lower than the costs of $560,000.

· It was found in 2005 that the compensation for redundant employees had been over-estimated by $150,000 because some of the staff had been transferred to other departments in Vision Limited.

· The penalty or compensation for the breach of purchase and sales contracts was estimated to be $420,000.

Required:
(a)
In accordance with HKAS 37, discuss the differences between provisions and contingent liabilities.
(5 marks)

(b)
Discuss and explain the appropriate accounting treatments and disclosures for the event of discontinuing the business of medical consumables supplied to hospitals.

(Your are expected to apply the following accounting standards in your discussion:

HKAS 2 “Inventories:

HKAS 10 “Events after the balance sheet date”
HKAS 16 “Property, Plant and Equipment”
HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”
HKFRS 5 “Non-current Assets Held for Sale and Discontinued Operations”)


(20 marks)


(Total 25 marks)


(HKAAT Paper 7 Advanced Accounting June 2005 Q.C3)

8.
Fitness Limited, which has a year end of 30 September, sells sports goods through a chain of retail outlets. The company makes a mark up on cost of 25% on all goods it sells, except for those supplied from a particular supplier. Goddie Limited, where it makes a mark up of 40% on cost. Sales of goods manufactured by Goddie Limited usually account for 20% of Fitness Limited’s annual total sales.

Fitness Limited offers a full refund arrangement to the customers for goods returned within 10 days of their purchase provided they are unused and in their original packaging. Sales in the last 10 days of the year to 30 September 2006 were $1,137,500 and an estimated $104,000 of the goods sold (at selling price) during the year will have manufacturing defects that will be returned by customers. Based on the past record, it is estimated that 10% of all goods are returned under the 10-day return arrangement. Of these returned goods that are not faulty, 70% are later resold at the normal selling price and the remaining 30% are sold at half the normal retail price. Goods returned as faulty have no resale value.

Besides the full refund arrangement, all goods have a guarantee for manufacturing defects for one year from their date of purchase. Except for Goddie Limited, all other suppliers undertake this guarantee so that Fitness Limited can reduce the amount payable to the suppliers with the cost of the goods that are returned as faulty. Goods purchased from Goddie Limited are at a negotiated discount to Fitness Limited as a compensation for manufacturing defects; thus Fitness Limited has to bear the cost of any manufacturing faults of these goods.

Required:

(a)
Describe the nature of a provision and the criteria for recognizing a provision.
(4 marks)

(b)
Provide the definition of a contingent liability.
(3 marks)

(c)
Calculate the provision that Fitness Limited is required to make at 30 September 2006 and provide rationale for your calculation:

(i)
for goods subject to the 10 day full refund return policy; and
(11 marks)

(ii)
for returned goods that have manufacturing defects.
(7 marks)

Please note that the breakdown of the marks for part (c) are as follows:

	Part
	Calculation
	Related rationale
	Total

	(i)
	8
	3
	11

	(ii)
	4
	3
	7


(Your answer should be in line with the requirements of HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”.)


(Total 25 marks)


(HKIAAT Paper 7 Advanced Accounting June 2007 Q.C4)

9.
Sea Limited, a public company, purchased a coal mine and its related plant on 1 January 2007. During the year to 31 December 2007, a new Environmental Legislation had been passed and enforced with immediate effect. This Legislation requires Sea Limited to landscape the area affected by the mining activities during the estimated life of the coal mine. At 31 December 2007, the estimated economic life of the coal mine is ten years. At the same time, the future costs of the landscape, which have been estimated by a professional surveyor with sufficient experience to be $162,000, have to be discounted at 8% to the present value as of 1 January 2007.

Required:

(a)
State the definitions of “Contingent Liabilities” and “Contingent Assets”.
(5 marks)

(b)
Discuss and explain the appropriate accounting treatments for the year ended 31 December 2007 of the event given in the question.

The marks allocation for part (b):

	(i)
	Whether provision should be made for landscaping
	5

	(ii)
	Best estimate for the amount of provision for landscaping
	7

	(iii)
	Costs of property, plant and equipment
	4

	(iv)
	Accounting entries to record this transaction
	4

	
	Total marks
	20


(Your answer should be in line with the requirements of HKAS 16 “Property, Plant and Equipment” and HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”)


(Total 25 marks)


(HKIAAT Paper 7 Advanced Accounting June 2008 Q.C4)

10.
Emerald Link Ltd engages in the production and distribution of up-market jewellery products. The company’s jewellery is well known for its design as well as its policy of reducing pollution to a minimum in their production.

In preparing the final accounts of the company for the financial year ended 31 December 2008, the financial controller has noted the following material events:

(1)
During December 2008, the company’s production plant in Vietnam accidentally caused chemical pollution to a local river. There is no environmental law prevailing in the country requiring the clean up of pollution by the polluter. The consultant has estimated that an amount of $20m is required for a proper clean up of the contamination.

(2)
The board of directors has resolved to close down part of the production facilities in Hong Kong and move it to the mainland China in a board meeting held on 29 December 2008. The relocation plan together with details of a redundancy package was announced to the staff concerned the next day. The total amount of compensation pay out was estimated to be around $5.5m.
(3)
On 5 January 2009, the staff in the production department discovered that a burglary had taken place during weekend. The company had reported the incidence to the police. A stocktake was carried out and it was noted that approximately stock valued at $25.6m was stolen. The insurance company has confirmed the company can receive compensation up to 50% of the loss.
(4)
On 2 February 2009, the company was sued by Royal Blue Ltd., a UK jewellery design company, for infringement of copyright. The claim amount was $40m. According to legal opinion, the company may not have a good chance to defend the case successfully.
(5)
On 10 February 2009 the company was informed by its lawyer that one of its major customers in the USA, Giant Ltd, has filed for bankruptcy and liquidation procedure has commenced. Total debt owed by Giant Ltd amounted to $17.5m, out of which $7.5m was represented by a shipment on 8 January 2009.

Required:

The final accounts of Emerald Link Ltd is authorized for issue on 16 March 2009.

In accordance with HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”, and HKAS 10 “Events after the Balance Sheet Date”, for each of the items above –
(a)
Identify the accounting issues and explain the appropriate accounting treatment.

(b)
Show journal entries for accounting adjustments, if required.

(c)
Prepare notes to the accounts for disclosure, if required.

Mark Allocation

	Material Events
	(1)
	(2)
	(3)
	(4)
	(5)

	Marks
	5
	5
	4
	5
	6



(Total 25 marks)


(HKIAAT Paper 7 Financial Accounting June 2009 C2)
11.
Food Supply Limited (FS) is a company producing and distributing food to factories. The company faces the following provisions / contingent liability situations:

Case A:

During 2001, the company gave a written guarantee to a bank as security for a loan from that bank to the company’s major supplier, BW Limited (BW). The financial condition of BW at that time was sound. However, BW’s financial condition has been deteriorating since early 2002 and on 30 June 2002 its creditors filed for protection.

Case B:

Ten factory employees were sent to a hospital after having eaten lunch boxes supplied by FS, and their illness was possibly as a result of food poisoning. Legal proceedings were started seeking damages from the company, but its disputed liability. Up to the date of authorization of issue of the financial statements for the year ended 31 December 2001, the company’s lawyers advised that it was probable that FS would not be found liable because the evidence to support the factory’s claim was weak. However, when the enterprise prepared its financial statements for the year ended 31 December 2002, its lawyers advised that, owing to developments in the case, it was probable that the enterprise would be found liable.

Required:
(a)
What are the general guidelines determining whether a present obligation should be recognised in a provision or disclosed in financial statements?
(4 marks)

(b)
Explain whether a provision or a disclosure should be made for each of the above cases, and if disclosure was required, what kind of information should be disclosed in the financial statements:

(i)
for the year ended 31 December 2001, and
(8 marks)

(ii)
for the year ended 31 December 2002.
(8 marks)



(Total 20 marks)



(PBE Paper I Financial Reporting June 2003 Q4)

12.
(a) 
The financial position of an enterprise as revealed by its financial statements may be seriously affected by events occurring after the balance sheet date contingencies. For this reason HKAS 10 “Event after the Balance Sheet Date” and HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets” lay down rules to ensure that such events and contingencies are properly reflected in financial statements.

Required:

(i)
What factors determine whether events occurring after the balance sheet date require adjustment to the financial statements, according to HKAS 10?
(3 marks)

(ii)
Explain the meaning of the term “contingent liability”.
(2 marks)

(iii)
State the different accounting treatments required for contingent losses and contingent gains according to their degree of probability.
(6 marks)

(iv)
Up to what date would it normally be necessary to adjust for or disclose events occurring after the balance sheet date or to disclose contingent losses and contingent gains?
(2 marks)

(b)
Germaine, a limited liability company, prepared its draft financial statements for the year ended 31 March 1999 shortly after the balance sheet date. They showed a profit of $980,000. After they were prepared and before the directors formally approved them, the following events took place:

(i)
A customer commenced an action against the company to recover $120,000 of losses incurred as a result of Germaine’s alleged supply of faulty components in February 1999. Germaine intends to defend the case vigorously. The company’s legal advisor consider it has a 70% chance of successfully defending the action. If the customer’s action is successful, damages and costs are expected to amount to $180,000. If Germaine successfully defends the action, non-recoverable legal costs of $30,000 will be incurred.
(4 marks)

(ii)
A trade customer, for whose balance a full specific allowance had been made at 31 March 1999, paid the account of $84,000 in full.
(3 marks)

Required:

Advise the directors of Germaine as to the correct accounting treatment of these items, giving your reasons. If you consider that the financial statements require adjustment, draft journal entries, with narratives, to give effect to the adjustment. If you consider that a note to the financial statements is required, draft a suitable disclosure note.


(20 marks)


(Adapted HKSA/ACCA Paper 1H June 1999 Q5)

13.
The draft financial statement of Ochil, a limited liability company, for the year ended 31 March 2000 are currently under consideration by the directors. The profit for the year is show as $350,000.

Since 31 March 2000 the following events have occurred, but have not been reflected in any way in the draft financial statements to that date:

(1)
A substantial quantity of slow-moving inventory was sold for $160,000. The items had cost $300,000 and had been valued for the accounts at 31 March at their estimated net realizable value of $200,000.

(2)
A credit customer paid the amount owing of $65,000 in full. At 31March there were doubts as to whether it would be paid and a specific allowance for the full amount had been made in the accounts.

(3)
A senior manager who was dismissed in December 1999 commenced an action against the company alleging wrongful dismissal and claiming damages of $50,000. The company’s solicitors estimate that the manager has a 25% chance of success in her claim. Irrecoverable legal costs of $10,000 will be incurred by Ochil regardless of the result of the action.

(4)
Some years previously, Ochil guaranteed the overdraft of as associated company, Sidlaw, up to limit of $100,000. Shortly after Ochil’s balance sheet date, it was announced that Sidlaw was in financial difficulties, and it is now probable that Ochil will have to meet the guarantee in full.

(5)
In May 2000 plans to merge Ochil with Cairngorm, another limited liability company, were announced.

(6)
It was discovered that an error was made in arriving at the inventory figure at 31 March 2000. Items which had cost $30,000, with a net realizable value of $40,000, had been omitted.

Required:

(a)
Briefly explain the required accounting treatment of events after the balance sheet date and contingent losses according to HKAS 10 “Events after the Balance Sheet Date” and HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”.
(5 marks)

(b)
Apply the treatments you have stated in (a) to the six events (1) to (6) listed above in relation to the company’s financial statements for the year ended 31 March 2000.



(12 marks)

(c)
Prepare a statement showing the effect on the profit for the year of the adjustments required.
(3 marks)



(20 marks)



(Adapted HKSA/ACCA Paper 1H June 2000 Q5)

14.
(a)
How does HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets define a contingency?
(3 marks)

(b)
What information should be disclosed in the financial statements with regard to contingencies?
(5 marks)

(c)
State, with reasons, how you would account for the following items:

(i)
The directors of a company have discovered a painting in a cupboard and have sent it to an auction house, who has confirmed that it should sell for $10 million in the following month’s auction.
(3 marks)

(ii)
A claim has been made against a company for injury suffered by a pedestrian in connection with building work by the company. Legal advisers have confirmed that the company will probably have to pay damages of $2 million but that a claim can be made against the building sub-contractors for $1 million.
(3 marks)

(iii)
A company uses “recourse factoring” whereby the company agrees with the factor to re-purchase any debts not paid to the factor within 90 days of the sales invoice date. In the year ended 30 June 2002 the factored credit sales of the company were $20 million, of which $18 million had been paid to the factor, $1.5 million was unpaid but due within 90 days and $500,000 was unpaid for more than 90 days.
(3 marks)

(iv)
The manufacturer of a snooker table has received a letter from a professional snooker player, who was defeated in the final of a major snooker competition, threatening to sue the manufacturer for $10 million, being an estimate of his loss of earnings through failing to win the competition, on the grounds that the table was not level.
(3 marks)



(20 marks)



(Adapted ACCA 2.8 December 1988)

15.
The HKICPA has recently published HKAS 37 “Provisions, Contingent Liabilities and Contingent Assets”. This standard is based on IAS 37. The standard defines a provision as a sub-class of liabilities which should only be recognized when the entity has an obligation to transfer economic benefits as a result of past transactions or events.

Required:

(a)
Outline the benefits to the major standard setters in developing new standards in conjunction with the IASC.
(5 marks)

(b)
What do you understand by the term “big bath provisions” and what effect will HKAS 37 have their recognition?
(5 marks)

(c)
Build plc, was awarded a contract to build a tunnel under HK by a Government Department. Build plc, delegated various aspects of the contract to other companies. One of the sub-contractors Digit Ltd, was negligent in the performance of it’s contract with Build plc, which caused delay in the completion of the tunnel and subsidence to property. As a result, Build plc is defending proceedings claiming damages of $5 million. In turn, Build plc has commenced proceedings against Digit Ltd. The lawyers have advised Build plc that both actions are likely to be successful.

Explain how Build plc should account for the legal claims.
(7 marks)

(d)
Quarry plc has been given a 4 year license to conduct open cast mining on 60 acres of land adjacent to a village. Under the terms of arrangement Quarry plc will be responsible for relandscaping the land on completion of the contract. It is estimated that this will cost $4 million. The accounting treatment for such costs in the past would have been to simply apply the accruals concept, i.e. to charge the profit and loss account $1 million per year in respect of the relandscaping costs.

Explain why HKAS 37 does not adopt the accounting treatment for environment costs that has previously been adopted, and how the relandscaping costs should now be accounted for to comply with the requirements of HKAS 37.
(8 marks)


(Total 25 marks)

16.
On 8 November 2002, the directors of Mecare Ltd are due to consider the approval of the financial statements of the company for the year ended 30 June 2002. The following points have not yet been dealt with fully:

(a)
A former director, who was dismissed from the company’s service for acting out his authority, has given notice of his retention to claim substantial damages for loss of office. On 1 June 2002, a claim was received in the amount of $1 million. The company’s legal advisers do not think he will succeed in any claim, and have been negotiating with the former director who has reduced his claim to $750,000. A provision of $250,000 has been made in the accounts.

(b)
Mecare Ltd has guaranteed the bank overdraft of a subsidiary company to the extent of $15 million on 30 June 2002.

(c)
Bills receivables of $4.5 million were discounted on 15 June 2002 and are due for maturity on 15 December 2002.

(d)
On 2 July 2002, the company had been notified by a customer that an item of equipment supplied by Mecare Ltd in May had failed in operation resulting not only in the total loss of the equipment but also causing damage to other equipment used in the process. The customer is claiming for the full cost of the equipment at $5 million and $10 million for consequential damage to other equipment. Mecare Ltd had not manufactured the equipment itself but acted as a dealer for the continental manufacturer in return for a 20 per cent commission on the sale. The company is confident that the manufacturer will meet his obligation in the counter-claim.

(e)
The company is expecting to receive orders worth up to $50 million for a new item of equipment which is at present on field trials. The equipment is being imported by the company at selling price less a trade discount of 25%. A quantity of this new equipment was held in inventory on 30 June 2002.

(f)
The company has a commitment to purchase, if so required, 30,000,000 ordinary shares in Attention Ltd for not less than $30 million. The relevant net assets amount to $25 million.

Required:

To discuss what treatment, if any, each of the above items should receive in the financial statements for the year ended 30 June 2002, and give your reasons.

17.
Provisions are particular kinds of liabilities. It therefore follows that provisions should be recognised when the definition of a liability has been met. The key requirement of a liability is a present obligation and thus this requirement is critical also in the context of the recognition of a provision. However, although accounting for provisions is an important topic for standard setters, it is only recently that guidance has been issued on provisioning in financial statements. HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’ deals with this area.

Required:

(a)

(i)
Explain why there was a need for more detailed guidance on accounting for provisions.



(7 marks)

(ii)
Explain the circumstances under which a provision should be recognised in the financial statements according to HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’.
(6 marks)

(b)
Discuss whether the following provisions have been accounted for correctly under HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’.

World Wide Nuclear Fuels, a public limited company, disclosed the following information in its financial statements for the year ended 30 November 1999:

Provisions and long-term commitments

(i)
Provision for decommissioning the group’s radioactive facilities is made over their useful life and covers complete demolition of the facility within fifty years of it being taken out of service together with any associated waste disposal. The provision is based on future prices and is discounted using a current market rate of interest.

Provision for decommissioning costs

	
	$m

	Balance at 1 December 1998
	675

	Adjustment arising from change in price levels charged to reserves
	33

	Charged in the year to profit and loss account
	125

	Adjustment due to change in knowledge (charged to reserves)
	27

	Balance at 30 November 1999
	860


There are still decommissioning costs of $1,231m (undiscounted) to be provided for in respect of the group’s radioactive facilities as the company’s policy is to build up the required provision over the life of the facility.
(7 marks)

(ii)
The company purchased an oil company during the year. As part of the sale agreement, oil has to be supplied to the company’s former holding company at an uneconomic rate for a period of five years. As a result a provision for future operating losses has been set up of $135m which relates solely to the uneconomic supply of oil. Additionally the oil company is exposed to environmental liabilities arising out of its past obligations, principally in respect of soil and ground water restoration costs, although currently there is no legal obligation to carry out the work. Liabilities for environmental costs are provided for when the group determines a formal plan of action on the closure of an inactive site. It has been decided to provide for $120m in respect of the environmental liability on the acquisition of the oil company. World Wide Nuclear Fuels has a reputation for ensuring the preservation of the environment in its business activities.
(5 marks)



(25 marks)



(Adapted HKSA/ACCA Paper 13H December 1999 Q4)
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